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Chapter 2: Trigonometry J/

The Primary Trigonometric Ratios Assignment
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1. Write the required ratio in fraction’form for the following triangles.
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2. Write the required ratio in fraction AND decimal form (3 decimal places).
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3. Find the required ratio in decimal form (to three decimal places).
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4. Draw aright triangle that satisfies the following criteria. Find the length of the missing side.

a) AABC where ZA =90°, the side opposite b) AXYZwhere Z/X =90, the hypotenuse is 15
/B is 5 and the side adjacent to £B is 13. and the side adjacent to £Z is 10.




